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Day 3: Subtract a 1-digit number from a 2-digit number, bridging 10.

32 – 6 = 32 – 6 = 

This is the opposite 
of when we were 

adding. 

If we count back 6, we 
will cross a multiple of 

ten (30).

26
Remember that these 
are special numbers.
Remember that these 
are special numbers.

26
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Day 3: Subtract a 1-digit number from a 2-digit number, bridging 10.

27 – 527 – 5

22 – 622 – 6

22 – 522 – 5

27 – 627 – 6

33 – 433 – 4

53 – 753 – 7

38 – 438 – 4

48 – 648 – 6

Which will cross a ‘red’ 
number and ‘go up a line’ on 

the 100-grid; that is, they will 
‘break’ into the next group of 

10 beads on a bead bar?

Don’t cross a 10s Don’t cross a 10s 
number

Cross a 10s Cross a 10s 
number

27 – 527 – 5 22 – 522 – 5 33 – 433 – 438 – 438 – 4

22 – 622 – 627 – 627 – 6 53 - 753 - 748 – 648 – 6


